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CHEMISTRY
(Sklll Enhancement Course )
~ Answer the Questions from any one Option' :

'OPTION-A ( Analytical Clinical Biochemistry )
Paper : CHE-SE-4014

OPTION-B ( Green Methods in Chemistry)
Paper : CHE- SE-4024 o

OPTION—C (Pharmaceutical Chemtstry)
Paper : CHE- SE-4034

' ‘ OPTION-—D :
(Chemistry of Cosmetics and Perfumes ) :

Paper : CHE-SE-4044
OPTION-E (Pesticide Chemistry)
Paper : CHE-SE-4054
'OPTION-F (Fuel Chemistry)
Paper : CHE-SE-4064
Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks Jor the questions

Answer either in Engltsh or in Assamese
' Contd.



~ OPTION-A
_ {Analytical Clinical Biochemistry)
' Paper : CHE~-SE-4014

1. Answer any four of the 'followmg _
" (Choose the correct answer [ Fill in the -

. blanks) : . . 1x4=4
wﬁmmwﬁthW(mww ,
Wm/mﬁtﬁvﬁqm) '

(@ In eukaryotes, fatty acxd break down .
' occurs inside ‘

AR TR RS, T ﬂmfa ﬁmm ‘azB
i) mitochondrial matrlx '
NHFYAT WY 71 fooqo
(ii)  cytosol:
(FIFRIR fooge
- (iii) cell. r_nembrane
PRI Sogo
{iv)- 'endoplasmic reticulum .

T AT TR fSete

(b) - .'____ 1s the simplest amino ac1d
__ cibiRes AR afe
(. ______ types of amino acxds are

.-required to synthesxze a protein.
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Cigin ‘31'37!3 AR _ ‘ﬁ‘ﬁ’ tﬁﬁﬁ aﬁm"
qRER @ | |

A Peritoses present in DNA and RNA are

and . respectively. ,
DNA W% RNA © & ﬂaawmﬁﬁam

(€ 'thmh one of the followmg is a non-
digestible polysaccharide ?

TR (PRRY X G R R m ?
i) Cellulose S

(i) Starch CYSAR

(iii) - Inuline ESGC I

(iv) Glyeogen' AR .

() Arachidonic acid has 20 carbon atoms

‘with ._ double bonds.
HiRFT N «fges 2051 IRF [ AT e
s
- (g) Numencal changes in chromosomes are -
' called
g @’ﬂ’@?’ﬂ?ﬁ‘{%ﬂﬁﬂﬁﬁ?‘ QT = |
(h) Lactose is composed of . and -
oe m?zm%"mmm ‘
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" 2. Answer any three of the following :2x3= 6’

- R Rerzar fofbr s Tes A 8

: (a) What ‘are called denaturation andA
. coagulation of proteins?

F'ore TSI OiF S IIF ([ ?

(b) Define co-enzymes and co-factors.
TR T AP ! Fran

‘{c) Write two b1olog1cal roles of DNA.
- DNAS mmwmml .

(d) . How does pH affect on enzyme
act1v1ty'> What is called opt1mum pH
‘range ?-
%QWW@’W’pHNﬁW@MﬁW ;
FE? SFeeN pH A W [Fe o

(e) What._are biocatalysts ? Give e)'campl_e.' '

- tmwa%ws{iﬁw Wwﬁmn

b

()  What is called rancidity of .Lipids ?
faferer mﬁﬁaﬁ? = & T&ie

*3.  Answer any two of the followmg

 5x2= 10- ,
(a) Write a note on the class1ﬁcat1on of
enzymes. .

T c&%ﬁ@i@awﬁsaﬁ c‘t?mfﬁ‘ﬁm
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(b)
(d.

().

What is blocatain1s? How is it -

_important in green chemistry ? -

MW%? mwmgﬁwﬁw

Write a note on characterlzatlon of
polysaccharides. «

R T SRS ol a“?mﬁrzm

What are the structural levels of protem. :
organisation ? Explain. . -

*aﬁaa\mmmmﬁsﬁw amm:

(e)

R

What. are the chemlcal components of - ‘

" nucleic acids ? Explain.

WQWW%WﬁﬁS?W i
ST

Explam the mechamsm of lock and’ »
key theory of enzyme action.

- e -y mﬁa ﬁr‘ﬂﬁﬁtﬁ Gt
I

'Answer any three of the followmg

10%x3=30

'w ﬁzwm%ﬁﬁm%@uﬁm

(a) erte a note on Kreb’s cycle

mmemm@mﬁam
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' (b) ," What are peptide hormones ? What are

the main types of peptide hormones" o

. Give the name of two peptide

. hormones. Write about the
. biochemistry of at least one peptide
hormone.. , . 1+1+2+6=10

| ,:_Ws&sm’aﬁw cvaﬁf‘ww’awmaw
. @ R e g IbiRS R AW Bl
ﬁmaﬁmﬁﬁ@m (S TR GRS
S LTI . |

e What is DNA rephca‘uon ? Explaln
| ' DNA Srgroia e i 41

" (@) ‘How are. proteins isolated and
‘ charactenzed ? What 1s protem

dcnaturatxon? L . 6+4=10 .-

R o qﬁaﬁm whﬁmq ?RI P

e a’ﬁaf@-mmmﬁw o

.;_j.'(e)'} What lS meant by genetlc code'9

‘Explain it. What are the propertles of

' genetic code? .

L TR RS IR @ [ WI 1’161—»??!,

" AT GO [ Reo

() What are llposomes?’ erte some. . -

"'b1ologxcal functions of hposomes R
ﬁef’@’mi R ﬁvr@smsgq Z@ﬁas zm’ U
AR A - o
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{g) How many factors are there in blood
coagulation process ? Write a brief note
on blood coagulation process in human.
TG Oowe I FANRY FINE AYT FR?
TR (TR SIS szémm @S B CURFI

e '

h) What are the major components of
urine ? How can we -differentiate the
normal urine from pathologlcal/ '
abnormal urine in case of Hepatltls—B .
virus 1nfect10n in liver ? '

R %msﬁs%vw R
 froRR @IBIEHR-B SI%R MEFHR (FIS
WWW/@TWW?HW
ﬁcﬁ:aﬁamv :

3 (Sem-+4/CBCS) CHE SE 1/2/3/4/5/6/G 7 ‘ . Contd.



OPTION-B
(Green Methods in Chemistry)
Paper : CHE-SE-4024

1. Answer any four questions : : 1x4=4
.ﬁmwﬁﬁrmwm |
) It is better to waste than to
treat or clean up ‘waste " after it is
formed. - (Pill in the blank)
RS e A R P e_‘naﬂ A ofeR
ST O TeAr - G @R
emwﬁitn B ¥ 2L

(i) The Pollution Prevention Act of
was the first initiation in the U.S. .
(Fill in the blank)

Wﬂ'ﬁ(ﬁﬁlﬂ e g R _
aca o0 (Wﬁ‘?jﬁq‘f?ﬁf).
(iii) The full form of CFC is _

_ (Fill in the blank)
CFC3 mcf W RH |

(fn—?éf'q‘fw) |

(iv) CO, exists as a supercritical fluid’ at -
31°C and _ atm. ‘

(Rill in the blank)

3 lSem-4leCSl CHE SE l/2/3/4}5/6[(} 8



31cm - athT"i" co2
me@ﬂsﬁm RS A iﬂl(#ﬁﬁéﬁqff
)

(v) Define atom economy
<5 AR e ot |

(vi) ‘Name the drug taken by pregnant '

women that may cause acute bxrth
defect. '

&St wiEg w4 @ FRA TR TS TR
GG ﬁ?ff‘ °fﬁ?ﬁ=_ @ M 2 '
(viz) Catalytic reagents are supenor" to

st01ch1ometnc reagent .
(Select True or False) -

e ReerR R ReRRs
it faneni (Wﬁeﬁﬁ‘ﬁw)

' (vzu) For green synthe81s of adipic acid -
D-galactose can be used as the starting

“material. (Select True or False) = -

.qﬁsf‘vﬁs T3 oTow eEERs D- (NS G |
WWWﬂWWEﬂI -
| (“ﬁ'ﬁ@ﬁﬁ‘ﬁ?ﬁf)
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2.

. Answer aﬁy three :" : - 2x3=6

e OB et w4 ¢

(9

®

'(é)

Write a chemical reactmn carned out
in water as a solvent.

ﬁmmﬂwmmﬁmaﬁ
1G5 [

What are the goals of green chemistry ?

 (Iow IR TIER fB

Write two addxtlon reactions w1th 100% .
atom economy..

a*!*fﬁﬂﬂim@ﬁﬁmﬁﬁ%iﬁw' .

(d)

W‘i f%wn

Write -the chemical_ reaétic'ms involved

.in green syntheéis of benzoic acid from

toluene.

I CC SRSy S - m’@"@ ﬂ\mct'

(e)

Wﬁﬁmﬁw .

What is rlght fit azo plgment?

BTG 9T 353 [e

-What is the structure. of TBTO ?
“TBTO ¥ o151 & fova |

3 (Sém-‘l/CBCSl CHE_ SE1 12/3/415/6/6 10



- 3. erte short notes on (any two) : 5x2=10
' ﬁmm 7517 A 55 (et v

(i) Bhopal Disaster
(ii) Vietnam War (1970)
bR T3 (5990)
ﬁii)~ An_tlfoulants ‘
R 2 A
(iv) Green synthesis of ibuﬁr‘ofenl
OIRATTFR (T T |
v) Grc;,en solveht:s for chemicai reactions

wvﬁasﬁmﬁmwmwm o

(vi) Pressure treated wood

(oo BT

4. Answer any three ‘questions given’ below
' 10%x3=30

| ‘mﬁmﬁmﬁﬁb‘rm%@%m

| (a) "Write the use of surfactant CO2 in the
field of dry cleaning.

sawrﬁwrmw cozamﬁm.
fewii - | ‘
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~ (b) Explain the use of antifoularit in the
- . field of water transportation.

o RIS eﬁzr’zm?a W R Rl
-
(c) Use of chromium and arsenic is restricted
as preservative for wood industry.
‘Discuss about ' their alternatives. - -

o o SRR S T e
‘_"Wﬁmﬁwmlﬁ@mﬂﬁmﬁm
ARSI TR .

d) What are lignins ?“Explain the use of
"~ hydrogen peroxide for catalyzing the

process of delignifying. -~ 2+8=10
Pl @R B RiveRe aferme sRse @t

Y (RS iR R B

| (e) What. are cradle to cradle carpeting ?
-+ -Write at least two .of the twelve .

principles of green chemistry in case
of recyclable carpet.

@A § e AR Ber Giow TR
A S TS g o FoRE
wﬁ\m—mﬁWW|

3 (Sem-4/CBCS) CHE SE 1/2/3/4/5/6/C¢ 12-



() ~Write . the - advantages - and
disadvantages of perchloroethylene
(PERC) used as a solvent for dry

cleaning. Draw the structure of -

: polystyrene COz- copolymer., 8+2=10

mvﬂawﬁ WW@W’«W
(PERC) Rl S SRRIEINS fordt | ?ﬁ@ﬁiﬁﬂ |
PTG 7Z LRI o157 Wil |

(g9 How can- synthetic azo pigments
replace toxic organic and inorganic
pigments ?

- wesfe ot a@mmf%mmt@‘c@zw
. otER a&wﬂﬁﬁ I ?
) Write the pnnmples of green chemistry
with suitable examples. '

mw%ﬁmﬁﬁawmw
et
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OPTION-C A
( Pharmaceutical ' Chemistry)
Paper : CHE- SE-4034

1. Answer any four quest1ons from the’
following: - - 1x4=4

w—ﬁmwﬁaﬁww ﬁmwﬁﬁamwo

(a) How many numbers of ‘N atoms are
- present in vitamin Bo ?

-fShifim By © M YT N 2R A2
- (b) What are NSAIDs?
NSAID qi%ra e

: ,-‘(c) What is fermentation ?.

Rea oRPT (FRCROER) R 2

@) What is meant by a lead compound i in
medicinal chemistry ?

eaf T Rae @l @ (e dy
- = = @2 - |
(e) Define chemotherapeﬁtic index.

R FCoIR et famt)
() Write the name of two enzymes involved

“in the fermentation of glucose to citric °
acid. :

3 (Sem-4/CBCS) CHE SE /2/3/4/5(6/G 14



qw-wmi@s@mﬁmm.

(Wm)wmw%mmm

IR

(g What is the heterocyclic ring system '
.present in vitamin C?

f‘—ﬁmc.wfﬁ?ﬁ'sﬁ@%ﬁﬁr%@?

{ﬁ) What are Abarbiturate‘s?.
- IRREES IFE ﬁsqm?

2. Answer the following any three questions:
2%x3=6

"Wzl’ﬂﬁmﬂ WWW@«*

(a) How many numbers of steremsomers
are possible for chloramphenicol ?
Which isomer is responsible for
antibiotic behaviour ? Draw 1ts

- structure.

F IS (B! wﬁw’wﬁma A ?
CRIC! SiRp AR @FSaEfe 9P o[l W
' 33113 9o S |
(b) What is the heterocyclic ring system
' . present in vitamin B3 ? Write the name

of a disease that occurs due to the
deficiency _of vitamin Bia. :

v
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RORA By © 4 RO R e
%’mﬁﬂ Blgﬁquﬁsmﬁm "ﬂ@’

(¢ Name the prodrug of dopamme ?. Why
cannot dOpamme ‘be administered
directly ? -

_@ﬁmﬁﬂawﬁ@m(a o) B 2 G
ﬁ‘ﬂmmaﬁamﬁrﬁv S

' (d) Define .agonist and antacomst drugs.
- . Give examples.

@S oI G BITRE 534%%3@1?%%#.,, -

ﬁml

- (e} ,What are meant by hypnotlcs and’
. sedatives? - -

ﬁm%mmﬁ@m% =
() What are analgesics ? Write the name
and structure of an analgesic drug.
| GAFEHER & T2 B GREEhT 8T
AN sm TS )

3. Answer any two questlons from the
following : 5x2=10

rﬁmmﬁammﬁmmWWWI

_(a) What is leprosy ? Which bacterial
species is responsible for leprosy ? Write
the name and structure of an

anti-leprosy drug and propose a
synthesis for it. . . 1+1+3=5

3 Sei-4/CBCS) CHE SE 2/3/4/3/6/G 16



oS & == mmﬁmmﬁwsﬁ |
' @%—E’zmwmeﬂ%ﬂﬁ’ﬁ@a«mm_ |
"ﬁ&@f‘“‘aﬁaﬁﬂnWI :

~ (b) - What. are sulfa drugs ?- Draw the
' structure of sulfacetamide. Under what
medical condition it is being used? -
Write the name of fwo bacterial species

' agalnst which 1t is active.”
1+1+1+2=5

"quﬁqumvmaﬁwﬁww
| wegw 91| & B ‘affr—"lr G2l IRIT
o 2 76 (QUBRAR AW e IR ﬁ@m |
mamfi@wm :

(o) erte the structure of 1buprofen How
' many numbers of steremsomers are
. possible for ibuprofen and which isomer
is therapeutically active ? Mention two
advantages of ibuprofen’ over aspirin.

1+2+2=5

~wﬁ’cw ﬁé‘ﬂ WS ol | SR A T
RFGT (BRESIZGNR AE i (P!

witreR Bt fers e G ARAOE

wr‘%z:’c—aa 751 ARt vt

| (d) Draw the structure of LfGlﬁtalmic',-
- acid: How is it being synthesized by
fermentation process? " ' 1+4=5

3(Sem-4/CBCS CHE SE 123045066 17 Contd.



-2 BT ufbes oI FRES TR I | G-
ﬂWcﬂ%@ﬁmﬁ%ﬂm mﬂ@cw
iﬂ,wmam ' '

‘le) What is meant by vitamin C leachmg ?
Name fwo dietary sources of vitamin C.

'~ Write the name of two bacterial strains

.commonly used for synthesizing
‘L-ascorbic acid. through fermentation.

' T 2+142=5

. bR C B I R e RERR C T
- ClRIBIR TR T Fri | e afEFmRER g

e ofis woRd e e 15

QIR AW B

| -0 Write the- structure act1v1ty relatxonshlp
‘ (SAR) of penicillin analogues.

o e i AR TR
- R i a '

- 4, Answer any three questions from ‘the
following : 10x3=30

—a@ﬁmwﬁﬂmwmﬁﬁmmwo

(@) (i) What is the mtrogenous base
~ present’in the antiviral drug
- acyclovir? To which virus it is
- effective -against ? Write the name’
of a prodrug for acyclovir. 3

© 3 (Sem-4/CBCSI CHE SE 1/2/3/4/5/6/G 18
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afFerzEE g 9mdg feIe It .
. ARG TR, FI AN B | (PRRY SR -
"ﬁw?w&aw@ﬁaaﬁﬁq‘m:
R LRG| »

(i) What is a cardiovascular agent?
- Write briefly about the medical
condition in which glyceryl
trinitrate is used. Propose a
method for the synthesis of
glyceryl trinittate. 142+2=5

WWW(W)WﬁW '
wﬁﬁzﬁaﬁmwﬁﬁmm
- Wa@—aﬁaﬁﬁmn ‘

'(iii) -How does paracetamol decrease
' the body temperature? = 2,
oI o7 Bt e
- (b) ) ‘In the mdustrla.l preparatlon of -
S ethanol by fermentauon —_ '
ﬂ@ﬁﬁm“ —

" (A) What is the startmg matenal
and what percentage of sugar
does it contain? 2

3 (Sem-4/CBCS) CHE SE 1/2/3(4/5/6/G .19 - " Contd.



WOl WA AWF2 -
(B} Name two microefganisms ‘
that can' carry out the

fermentation.. 1
B! SRR A
(C) What are the nutrient

~ substances added ? | 1
R oiew @A TR
. (D) What is the’ optlmum .pH

. range for the process ? 1.
: ﬁﬂﬁﬁmw@rﬁ pH AR -

| -(E.) _What is the optlmum
S temperature for thls

process ? 1
wﬂiaﬁmﬁmwﬁ%ﬂmu o
ﬁﬁnﬂv ‘ ,

(F) ‘Why is addmon of oxygen‘- -
. ..necessary although  the
process is anaeroblc? 1

U gngefie @Al ATYE
',uﬁmﬂcﬁ‘m NCH! e AT 2
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(u) Write the name of four food

sources of vitamin B,. What is the
aliphatic side chain preseént in
vitamin Bj 2. 2+1=3
fSbifs B,3 51t A Besiw A &t |
fSBIfM. B, (5 ¥ ufeeioT vize csaa
&

~ (¢ () What are benzodiazepines ? What
is the trade name of the drug
Diazepam ?" In what medical
condition this drug is being used ?
. Propose a synthetic- pathway for

drug Diazepam. = 1+1+2+4=8 .

. AWEeRGEARN. P B @
wiaferr At am e [ o=

- SRge @3 grikd IR FWOW?
Wﬁ@fﬁwmﬂ’zxﬁqwﬁﬁﬂm

L (i) What are the essenhal requlrements
S -for d compound to be an anubxotxc ?

2

a%f G aﬁ?m‘ﬁ‘:as WFI tna—ﬁ'ﬂ
m R e .

- (d) (z) What is meant by retrosynthesxs'»’ :

 How. will it help to design a

synthetic route for a particular

.compound ? Explain by considéring -

- any drug molecule. = = 1+4=5 .
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e P R g < A
FLCHTA miﬁmmm‘»
ﬁmz-vmﬁmmwwu B

" (i) ~ Write briefly about the development
. of barbiturates. S

fe) (i) Provide two examples-of B-
lactam antibiotics with
structure. Why are these

- compounds named such? 2+1=3

1o 1 B - (To @Bt T
ﬁzm ﬂimﬁw@ amawcrﬁsaam_
(i) Draw the structufe of cephalosporin
- C. Name the two heterocyclic rings
present in its structure. Provide the
name and structure of the molecule
that is the starting point of
semisynthetic cephalosporins.
1+1+1=3
Fizﬂﬁ’svfﬁ-: C 3 517 11 T otome
ot 9B (BREFT fer am fran
ffrels REmsefa TReRR 557
sm N I A
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- (iii) What &re ammoglycosrde antl-_

biotics ? Give one example. '~

Mention two adverse effects of this
category of antibiotics. 1+1+2=4

GBI IR RS 3R R gE e
«bY TR | @] {9 9Foame
e gbrewn fFm B
" (f) Let us consider the: commercial
: production of penicillin in a fed-batch
reactor by fermentation.

m%mmm@sﬁm«wf
aff%cvrﬁrs%ﬂaﬂf?ﬁﬁrmer@@wml '

(i) Which are the two main specxes

used for fermentation? 2 _
- IR W"N’ '
(ii) " Which between those two is used
. mainly and why ? - 2
R IR B! @ﬁ?ﬁ W i
o e -
- {iii) What is the source of_ earbon ?1
OIS g T e
(iv) What is the source of nitrogen ?
. . 1
OIC NZG B A [Fe
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',(v} What pH range should be
maintained ? 1

- . pHT ofﬁvﬁﬁmﬂi‘amﬂe

. (vi) What chemxcal compounds are
" used as precursors for production

- of penicillin V and penicillin G ?
Give their. structures. 2

CRfRR Vv e ¢iRffN G oee
ANATS (NG IS ﬂvnarw
'wﬁmma\mﬁmu

(viz) ‘Which chromatographlc teohmque
’ is used to monitor the’ productlon
of penicillin? 1

| iRPRT aws A s o
. wqmwwwmcﬁﬁaw.
palleck

@ @ What is retrovirus ? Give ex’am’ple
@U’@@E = ﬁs qﬁtv G i

(ii) Write the structure of '
azidothymidine and mention to

which class of ant1 HIV agents.it
belongs. = 2

,.awmﬁa’aﬂtﬂawﬁm
-G g IO FB-HIV caéﬂam——
TEd = - ‘
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(iii) Starting from D- man'mtol. as the
easily available source for the =
construction of the sugar’
nucleus, describe' how
azidothymidine can be ' ,

- synthesized. - 0 . 6

- oere W1 ﬂ"z&‘a‘{@" T fiﬁﬂi’{

M%ﬁ‘ﬂﬁf@m@ @Zﬂ?ﬁs o9Fe T
A O R

(W (). What are eu1phenamide.s ?.

© ' Mention two uses of it. Describe a .

method ~of synthe31s of it

considering aniline as starting

material. Give one adverse effect
of using sulphonanudes

: w’mﬂﬂﬁvﬁﬁ%iﬂ’?ﬂﬁ 7o IR
TrEd 79| G 2Rl IEE NGRS
QT 4GS 9. W2 YAEAINTC
Waﬁemﬁlmﬁzm

(i) What is co-tr1moxazole ? 2

Co-BRSITam qr%ma ﬁ_zs _TW,

3 en-YORCSICHESE2I3306/G 25 Contd: |
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OPTION D

A Chemzstry of Cosmettcs and Perfumes)
‘Paper : CHE-SE-4044

1. .Answer any four q'ués'tions from -below :.

weTS il e Rz wﬁmm =l 3
(i) Write the basic purpose of using
‘face powder. .

q#-ﬁi%mquawnﬁ?

(ii) Why is preservative necessary in
shampoo ?

@[ TR Gl %tr Wﬁ FR?
(i) ‘Is hair spray related with hair loss ?
(AR ma%gﬁmwwﬁw@%a

_ (iv) Name the essentlal oil used in cold
and cough remedy.

'WWW—WWWW@HC‘W@
= W

 (v) State the statement True or False :
Tf&To! 61 (7 Ty vt s
. "~ Geraniol is a monoterpenoid.

mﬁﬂa R m’mﬁm .
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R R ——

| (vz) Why is 2-phenyl ethyl alcohol used in

perfumery .

2-Reiza R aaw Rm RIS W :

‘ 'Q'ﬂ? ‘

(vii) Name the vitamin Whiél"x‘*is-réfa'ted-with
good hair growth. ’

gﬁawwwm@mﬁﬁm |
A Bt F| '

(viii) Mention the plant part from ‘whic‘h :
' jasmine oil is extracted. ' '

@sﬁwmﬂ%@mwﬁwwqwm'
TEY 101 : ‘

Answer any three questlons from below :
' 2><3-6

(i) Write two side effects of- halr dye.
(R T R TR 7B! cw e T Al

(i) Write two main constltuents of a good
shampoo.

uﬁqwmﬁr@%ﬂrﬁ@mwm

(iii) Name one natural source of geramol
" oil and mention its one use.

| ‘mrﬁaac—aaﬁr ﬁ@%@eﬂ?mﬁmm
mmw by W‘f fre
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(w) Merition tivo main types of face powder.

el ﬁWWWWWWI

| W) erte two natural sources of
et - 2-phenyl ethyl alcohol.

' 2%@3@&?{&@@3@3@7@%.
WC?W Wl

(vi) Write two primary. ingredients of- |
lipstick. '
ﬁm@aﬁ ?fFl SR AR ﬁwn

3. .Answer any two questlons from the
followmg ' .. Ox 2-' 10

‘Wﬁmw ﬁzwmzf?/? Wﬁvn

(@) Defme cold cream and .vanishing
. creain. Why is cold cream used durmg

. wmter season and how does it work on

' human skin? . 2+(1+2)=5

'aﬁs%ﬂwxﬁwamwmﬁmw@ _‘

eﬂa—i mﬂmﬁmm?

~(b) What &re. antlpersplrants ‘and what is
 its- main use ? Write its one basic:

' 1ngred1ent erte 1ts two side effects.

2+1+2= 5
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mﬁqﬁﬁmmwmwmﬁa
2 Wwvm@sﬁmqﬁ@ﬂmﬁw
TR 7o i Somd 9.

(c) - Write chemical ‘composition of talcum

- powder. Why and how. does ‘it help
human - being?

B SNSRI A T | 2 Wi

[d) How does lipstick work on human
'skin ? Mention four genuine reasons,
: _how long- term use of lipstick may-i
. harm human. bemgs - 144=5
-vmwﬁﬂ%m&mmmﬁm
R iR IR TR R SRR FR7 A
o fiFee mﬁv/asm@zm =

C (e} 'What is muscone ? Mention 1ts natural
" source. Write its physical property. How
do human bemgs collect it from natura.ll
source .and use 1t9 ‘

: ‘ 2+1+2-—o .
:uﬁ?mﬁs aimmqsﬁas@m@rmwu TR
Wﬁ%nmmmﬁm a9
AT AR T TR, YL T2
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4.

() Which State of India has highest

sandalwood 0il? 'Mention four.
'1mportant factors on :which good
composition of sandalwood oil depends. -

1+4=5 .

.-:.-_FNW Gﬂﬁ*!qmms!ﬁﬁﬁﬁﬁsGﬂisww¢ﬁa

(T T T? QIS THAFIOR (TH AL,
. ﬁswﬁh'$ﬁa<wmﬁﬁknﬂaﬂn :

Answer any three questxons from the

followmg

.Gﬁ—ﬁhﬂaﬁﬂiﬁﬂ%@$5ﬁkﬁmmﬁﬁﬁﬁ?iﬂﬁﬂﬁ!’
(@) )

fi)-

10x3=30 -

" Define essentlal oil. Mention the
basic technique of extracting -
essential oil from nature. Mention

‘the 'special solvent which is used

during extraction. = 1+2+1=4

| SRR, (5 I AR ol | 2R sl

SR (T -SRI T (FETR0!
imﬁﬂ¢m|oaﬂemavﬁamaaﬁﬁsﬁkﬁa_

R W S AL

Mention how human beings use
the ‘following essential oils for

* their purpose :

(1) Clvetone and (2) Eucalyptus oil.’

2+2=4
amgﬁ_@-@'ﬁmrc@ﬂaqziﬁaa?ﬂwa-
R IR IR foran s '
(1)ﬁﬁ=53 sm$(2)3§6ﬁ%mmw'Cﬂa|'
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! A (zu) Write two basic’ ways by which
: human bemgs use essential oil.
2.

mwﬁﬂ c—'ﬂ'w«ﬁtjﬁq—
&mﬁmwn

(b) . (i) Mentxon three methods by which
rose oil.can.be -extracted. Which
type of rose is. mostly used for oil
extraction ? In what different ways
rose oil may be used ? Mention one
chemical compound generally used
alternative of rose oil.

‘ 3+1+2+1=7
oA c—awcﬁﬁ fofor wmfs
TrEYd TR (FEERE (el G2 cse .
IR AR TG ? (oo o R R
2RI AR R AR? (NI (oo AR
IRZA A AT (TIONOR T %rm-
9 -
{ii) What the is the purpose of using
- ‘shaving ‘cream ? Mention two
alternative compounds of shaving
cream. "o 1+2=3 -
wiee o e <R S e ofer

o 7ol RS -IR A ,r(ﬁef R
oL @mﬂ |
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_._A(c) (i) Write four chemical cbmpéunds _
prcsent in good/'best face powder.
: 4
| Tew IS d7 Hene 7S wﬁﬁv
| wnzrﬁas TR A SErd 3] | -

(i) What is the best sources -of
" -eugenol oil in nature? What -
‘method in. adopted for. its
~extraction ?- How men use it?

: 1+142=4
'ﬁﬁﬂammm@e«.ﬁsml -
B SR WA B Tt/ R

2 AR W (@ IR FA?

- (ii}) Write the names of two good
~_ ‘thickeners used in’'a good

shampoo o L 1+12
_wwwwwzﬁrw
qCqerR A faan

(d) (i) Why is wusing hair spray
: necessary ? How is hair spray
related with health of hair ? Write
three differences .between hair
" spray and hair dye. = '1+1+3=5
. R R IR IR TS &2
. PR AR @, (R (R’ IWTR
| FEER? (@R R I (R vaiw
Eﬁw °nﬁf<m et
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(ii) Write about the therapeutic usé

of different essential oils. - 5
- Rfen sl oo Bl cvas
cirin W R

(e () What is nail enamel" Write five
- basic chemical compounds présent -

in najl eénamel. - 1+5=6
mmmﬁs?mmquavﬁm |
IS (T A

(i) Mentionn two methods by which.
ana1y31s of essent:al oil is done.
1+1—2,_

- (iii) Write the basic difference between
hair removing éream and shaving.
cream. 2

mﬁqﬁxﬁwwwﬁ%zﬁw_
Ny o

| 0 .Wnte in short about the follmmng

5+5=10
wete fazt ﬁﬂ?ﬁ TS 53_{235 ﬁl‘an
i) Cosmetic safety o
oew fierer -
(i) Purpose of using fragrance
" materials

aﬂﬁamaﬁmmmﬁm
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(g) Chemlcally what is a nall pohsh'
remover ? -Mention five basic chemical -
components present in nail polish .
_remover. Why do people use nail

, polish ? Write two side effects of nail
- l2irpolish - vising: . 1+5+2+2=10

Rerers 27 ish 5 AT BAWH Sz
1 | TR AR s Rew IR e 2 7 oA
zﬁr vnﬁfimw«n

) What is suntan lotion ? Place four

.. strong opinions regarding the use of

. suntan compounds by human beings.
2+(2x4)=10

mz‘fs‘a a’a 5 W TR IR BINCBH

CTHIER TRTR R 571707 7t oS |
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, OPTION-E
(Pesticide Chemistry)
Paper : CHE-SE-4054.
. 1. . Answer anyfour of the Iollowing-éuesﬁons:
. .. 1x4=4
SR matra ﬁmm slﬁ?l? ﬁw Prrs -
Choose the correct one : '
o Bewh! AR Shved 2

i)’ Which of the followmg is not ‘an
' -organochlonne pesticide ?

' (A) Malathione ~GENRER
- (B). DDT - RRS
'+, (C) Aldrin AR

- . (D) Endosulphan. Q@®e# -
(i) The chemical used in ‘National Malaria.
Eradication. Programme’ is . - -

AP cARA Pt SRS RS mmﬁas.

Ry T

_ (A) BHC ﬁ@ifs
'@ ppbr . . RERB
€) 2,4D -  2,4%

(D) Pyrethroid ANYALTG
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(iii) A'Natural insecticide obtained from neem _
leaves is -
A oifeq =Rl oIl 3 eanas ﬁsamas ﬁzx‘
'(A). Azadrirachtin’
(B) Nicotine
- R
(C) Lawsone
| R _
(D) Ecdysone
‘ emsﬁs# .
(iv) Ident1fy the weed1c1de among the
" following : -

o MAIRRR el oI T emasﬁ&r fore
. W o -, . ’
(A) 2, 4-D
2,4-f&
" (B) Parathion
CARIATR
(o} Chloranil ‘ T
- (D). Sporem '
R
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() The pesticide used in foundation of
buildings for preventing termite attack
is S

BRI SR 1 7 TR BRI
- She e 7 FPIHRY TR
(A) Gammaxene
| CrRE
(B) DDT"
fefei
. (C) Aldrin
@A
(D) . Endrin
(vi) Ratenone is a/an
PG T @Ry
(A)A insect hormone
J6 |
(B) natural insecticide
egfos FHarT
(C) bioherbicide
(D) ‘weedicide
| A
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(vii) Alachor is an
. AR aﬁa o
o _(A) ‘ OrganOPhOSPhate pest1c1de .
(B) .anilide 'pesti'cide. .
€ Ofganothorine pesticide
Ry
(D) None of the above
8IFT oIe A

(vuz) Carbofuran is used as

Wﬁﬁm W Ll
(A) an- agncultural pesticide

| @Ry e T BeTet
_ (B} a fruit ripening agent
T SRR IR oA
(C) a food preservative
A ATEE 5w

.. (D) a moisturizing agent

et el ol
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2. | Give very short énswefs of the following :
(any three) o : . 2x3=6
' Tﬁﬂm@wmﬂ%@afw (Ricaret fofst)

@) What do you mean by herblcxdes ? Give
one example. ' -

-\pcmmsq%zaﬁﬁwwvaﬁwqﬁml_

| (ii) . Name two organochlorme pesticides.
R o Re oA (@R I S 4 |
(i) What are rodenticides? Give an
example of commonly used rodenticide.

| FEHREATAPR @R 52 ARSI IRGS <Ry
PILNTNRY Sureel a1 |

. (iv) Can algaecide be considered as a
- pesticide ? Which algaecide is used to-
control algal blooming in ponds, lakes
etc? o
“ oI TR TGS FRBTCet 1) ] mﬁmv'
AR “CTARAMIS o3 it TUREICS TR
SO NN IS I/ T W

(v)  What is the full form of DT ? In which
class of pesticide it belongs to?

e T @ B2 ¥ EREETIE Floars
e sEsfee
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(v What is the mode of action of
~ rodenticides ? Answer briefly.

' mﬁwmﬁmmmvsﬁsm: |

3. Explam bneﬂy any two of the following :
- 5x2=10
(a) Use of- Gammaxene as a pestmde

- SRR oA Reweel e
(b) ‘Organophosphate pesticides
(c) Methods .of pesticide résidue analysis .
.. (d) Synthesis of organophosphate pesticides
R (e o e o
(e} Agricultural pesticides

4. - Answer the followmg questlons (any three)
10"3 30 -

| ST T O [ 3 (Reie Rfby)
{a) Define pest101des Discuss in detail”
* different classes of pest1c1des by giving

“example of each class and their mode
of action.
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AT W et | FoAr w9 R[few
(MRl o 2R FAIRR T Surzeiw
TS Rweid Siemal [ '

(b)) What are organochlorine pesticides ?-
Give chemical structure of any twe
such pesticides. Write the applications
of some commonly used organochlorine
pesticides. How-:can these spest1c1des‘.
‘affect human health ?

o R SRR 2 (SRl fd‘zwz-vrm%sr

. Floarres e o1 Frl | TSI TS
@R Coreg R PN AT TS
ot | G oA AR mwm '
HONE I :

(c) What do you mean by 'pestic-ide
~ residue ? Discuss its impact on human

" health. Describe various methods of -
pesticide residue- analysis.

oA SO o1 s et 2 T R Zam

| Aol FATE A | oA SR
. Rever Rt s Raw = frn
'{d) What is chloranil ? In which category
" .of pesticide it belongs to? Write its
molecular structure. Discuss about its
synthesis, uses and harmful effects in "

" detail.
@Wﬁﬁﬁ??@@%ﬁWW?

3R SeRE 15N B L TR oefS, IRk
_ﬁwmﬁmmww: '
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(¢) Explain in detail the benefits and
adverse effects of dlfferent kinds of
pesticides.

e Foaris TR Ferke o Kiel ger
T e Il wife |

() Differentiate between natural and

- synthetic pesticides. Explain with -
examples. Write about their advantages
-and disadvantages in detalil.

AIPRoT o FCHARE oA Tiers :,(?U'
MR TR F@R frdl) ke R
. SRR R Rgeer @it -
(g9 Write short notes of the followmg
(any two)
T ﬁmm gﬁra Ere 531 Coreel fovalf ¢
(i) DDT. - fofef
(it} M}alat‘hlonr C‘SI—IQIRM '
(iii) Chloranil  F'afE -
A (iv) Alachor BN SR
(h) ‘What are carbamate pestlcldes’»‘ Give
- examples Why are they used for? =

_ - Discuss about their toxic effects. How
. ‘ can we analyze carbamate pesticides ?

. TR AR R 2 Swrzae fra | @R g

4 ‘a?ﬁqr%%nwwzmmﬁw

SR T Sl 9L e e @
Wﬁmﬂwﬁmqw'wm?
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OPTION—-F

. (Fuel Chemlstry )
Paper . CHE-SE-4064 -

.

1. Answer any four of the followmg questions :

Tﬁtn ﬁmwﬁﬁrmmﬁm

(@)

(b)

»

Ca

G/

1x4=4

' What is the formula of producer gas ?

2'fEToR (I IS RS 2
What is flash and ﬁre, pomt of

lubricant? -

q’@zﬁa;ﬂswwﬁrﬁﬁw o
What do. you mean: by power alcohol ?
wquﬁmﬁsqm9 |

Deﬁne octane: number L

'-,._w@amﬂmqaﬁvm

, (e)

lee two examples of antlknockmgr
_agents S

: «sﬁﬂﬁs mmemwﬁm ‘.
Define calonfi,c value of a- fuel

o R o 3127 féianl
:(g)«' : Deﬁne pltch L
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(h) Give two examples of gdseous fuel.

ORI ZER 7h7 St

2. Answer any three of the following
‘questions : - 2x3=6

. weTe T R fofab mﬁﬁm

(a) What are renewable and non- renewable
energy resources ? G1ve one example of
each. .

TR T a?lawmm “f&T SR -
2 ave @i T f | |

(b) How is coal tar formed ?

‘() Write the differences between thermal
. and catalytic cracking? '

S c@% T RO (T m@ﬁm

(d) Mention two routes for the rnanufacture
of isoprene petrochemical..

uﬁs@mﬂ@am@mﬁﬁw@wqagw.
sf@ls Sy |

(e) Whatis the difference betwéen base oil
and additives ? ‘

-Wrﬂwwﬁﬂamoﬁwml
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(f) Define ultimate analysis of coal.

Wmﬁmﬁq s g oty

3. Answer any two of the followmg questlons
o 5><2 10

(@) How are fuels classified ? Why are fossil
fuels regarded as ‘the most important
source of energy today ? ) |

2+3=5 -

AR (T cat?ﬁﬁt-ﬂm = T2 SR

- GRe Ee / @W"icfxiﬁsw B fism o*l
= ’iﬂ ? '

(b.)‘. ‘What is coal? Discuss briefly about
- the compositions and types of coal. -

. 2+3=5
mﬁs?iﬂwm%wﬁf‘—am«em,. _
B Y =AW

“fc) Write. short notes on the followmg
' ~ 2+3=5
S oR e -
. (i) Coal gas
o el ol
(i) Water gés -

ST (Y
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(d) Classzfy petroleum accordmg to the
" types of hydrocarbon ,
. oA o QR TIERR €S f‘—m asﬁ
. '-"CWMWWI j
- (e) What is hydrogenatlon crackmg? What o |
are the catalysts used for catalytic
hydrogenation process? - = 2+3=5

TR gEEed . e e wEiEn

mw%ﬁsu@%aswww ,

‘(ﬂ , Wr1te _shortly on aromatw
petrochemlcals

R Cﬂmmeﬂrmﬁwl ﬁ

4. Answer any three of the followmg
" questions: ., ' 10x3=30

wers ﬁzwmﬁﬁ?r m@wﬁm

a) Class1fy petrochemlcals with’ thelr f
compositions. Describe the method of '
preparation of propylene "oxide by

chlorohydrin process. . 5+5=10

ot goEe o B g e
TIReER 391 | 7GR AR A eeiRfem
ARG SFeI I W |
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Y
L

(b) Describe the ,general properties .of

lubricants in brief. How are lubricants

- classified ? - . 7+3=10

R AR SRR R R RERRR
- Rem fiteen 3 @ e J_{

R (c What is biomass? Briefly _d"iscuss'

 different types of biomass. . 4+6=10 . |
g R KSR ooRT IWAT @R 6T

(d) () Calculate presence of percentage -
' ofC,H, N and S from the following -
- observatlons for a sample of coal :

) S S
2.1 g of coal is burnt in a
combustion tube. The increase in

_weight of anhydrous CaCl, .is
-0.53 g and increase 'in weight of
KOH tube is 5.73g. :
C, H, NSi% s-a@ﬂﬁi%vfwwﬁm
wEq R o[ e 5 8 a

2.1g T 51 TAS WA I LA | S

CaCly-I IS &3 27 0.53g W KOH
T Ao o T 5. 73g!

"-{ii) Write the posmve aspects of
uclear energy.’ ‘ 5

ﬁ‘@ﬁww%ammmmﬁw |
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(e What is biodiesel ? How is biodiesel
- produced ? .Discuss. " Write the
adVantages of biodiesel. 3+3+4=10

| ‘-mﬁcﬁaﬁs?mmﬂwwm? |
e ,qumfwﬁwaﬁwﬁmj |

. (). Whatis fzjactlonal distillation ? Discuss-
- briefly the principle of fractional

- distillation. Explain the process of. --

fractional distillation, . 2+3+5=10 .
SR ~ATeA {6 2 2R T OGRS Ao
Radbiaai Sk niee I
(99 How is viscosity. of lubricant -
- measured ? Discuss the importance

of ammal oil and vegetable oils.
5+5=10

R (oo TSl @S Rl T e
“fren OIS SYETe (R R Ao 1 |

'~ (h) Mention the effect of pressure and
. temperature on carbonization of coal

tar. Write the negative impacts of
burning fossil fuels.. - 5+5=10

SERISA WZTS Givl Wi TROR Aok Tm
‘Wlwwmwwmwm-
. woRrRe R

3 (Sem-+4/CBCS) CHE SE 1/2/3/4/5/6/G * 48 B 2000





